

$a_1 \times \frac{q^3-1}{q-1} = 21 \Rightarrow a_1 \left(\frac{q^3-1}{q-1} \right) = 21 \Rightarrow a_1(q^2+q+1) = 21$ $a_1 \times a_2 \times a_3 = 48 \Rightarrow (a_2)^3 = 48 \Rightarrow a_2 = 4 \Rightarrow a_1 q = 4$ $a_1 q^2 + a_1 q + a_1 = 4q + 4 + \frac{4}{q} = 21 \Rightarrow 4q + \frac{4}{q} = 17 \Rightarrow 4q^2 - 17q + 4 = 0$ $4q^2 - 17q + 4 = 0 \Rightarrow (q-14)(q-1) = 0$ $q = 14 \text{ یا } q = 1$ $q = 14 \Rightarrow a_1 = \frac{4}{14} = \frac{2}{7}$ $q = 1 \Rightarrow a_1 = 4$	1
$(x^2+1)(x^2-1) = 4x^2 \Rightarrow x^4 + 2x^2 - 1 = 4x^2 \Rightarrow x^4 - 2x^2 - 1 = 0 \Rightarrow (x^2-1)(x^2+2) = 0$ $x^2 = 1 \Rightarrow x = \pm 1$ $x^2 = -2 \Rightarrow x = \pm \sqrt{-2}$ $S_r = 1 \times \frac{q^4-1}{q-1} = \frac{1-\frac{1}{17}}{\frac{1}{17}} = 17 \times \frac{17-1}{17} = 16$	2
$1+q+q^2+q^3+q^4 = \frac{121}{11} \Rightarrow 1+q+q^2+q^3+q^4 = 11$ $1+q+q^2+q^3+q^4 = 11 \Rightarrow q^4+q^3+q^2+q-10 = 0$ $q^4+q^3+q^2+q-10 = 0 \Rightarrow (q-1)(q^4+2q^3+3q^2+4q-10) = 0$ $q = 1$	3
$d = \frac{48-1}{4} = \frac{47}{4} \Rightarrow d = 11.75$ $r = \frac{48}{1} \Rightarrow r = 48$ $A = t_1 = t_1 + 100d = 1 + 100 \times 11.75 = 1175$ $B = t_2 = t_1 \times r = 1 \times 48 = 48$ $A+B = \begin{cases} 1175 + 48 = 1223 \\ 1175 - 48 = 1127 \end{cases}$	4
$d = \frac{-90}{4} + 24 = -22.5 + 24 = 1.5$ $t_{10} = t_1 + 100d = -22.5 + 100 \times 1.5 = 127.5$ $a_1 = a_1 \times r^4 \Rightarrow 127.5 \times r^4 = 1$ $r = \frac{1}{127.5}$	5

$$\begin{array}{ccc} t_p & t_v & t_q \\ t_1 + r d & t_1 + q d & t_1 + \lambda d \end{array}$$

$$(t_1 + r d)(t_1 + \lambda d) = (t_1 + q d)^2 \Rightarrow t_1^2 + 10 t_1 d + 14 d^2 = t_1^2 + 14 d t_1 + 14 d^2$$

$$-2 t_1 d = 0 \Rightarrow t_1 = 0 \Rightarrow d = -\frac{1}{10} t_1$$

$$d = 0$$

$$\begin{array}{ccc} t_p & t_v & t_n \\ a_1 + d & a_1 + r d & a_1 + v d \\ \rightarrow r d & \rightarrow r d & \rightarrow \lambda d \end{array} \Rightarrow r = \lambda$$

$$(a_1 + d)(a_1 + v d) = (a_1 + r d)^2 \Rightarrow a_1^2 + \lambda a_1 d + v d^2 = a_1^2 + 2 a_1 r d + r^2 d^2$$

$$r a_1 d = v d^2$$

$$r a_1 = v d \Rightarrow a_1 = \frac{v}{r} d$$

$$a_1 = \frac{1}{r} \Rightarrow r = \frac{1}{r} \Rightarrow a_1 = \frac{1}{r} \times r^2 = \frac{1}{r} \times r^2 = r = 14$$

$$r a_1 r, r a_1 r, a_1 r^2$$

$$r a_1 r + r a_1 r = r a_1 r^2 \Rightarrow r^2 + r = r^2 \Rightarrow r^2 - r + 1 = 0 \Rightarrow (r-1)(r-1) = 0$$

$$r = 1 \Rightarrow \text{جواب}$$

جواب

$$\frac{1}{r} > \frac{v}{r} > \dots$$

$$d = -\frac{1}{r}$$

$$-1 + r > \frac{1}{r} + r > \frac{1}{r} + r$$

$$t_p = t_1 + r d = r - \frac{1}{r} = \frac{r^2 - 1}{r} \Rightarrow a_1$$

$$t_n = t_1 + v d = r - \frac{1}{r} = \frac{r^2 - 1}{r} \Rightarrow a_r$$

$$t_p = t_1 + r d = r - \frac{1}{r} = -1 \Rightarrow a_p$$

$$\frac{t_p + r}{t_n + r} = \frac{-1 - \frac{1}{r}}{\frac{1}{r} - \frac{1}{r}} = \frac{-\frac{r+1}{r}}{\frac{r-1}{r}} = \frac{r+1}{r-1} = \frac{14}{12} = \frac{7}{6}$$

$$(r-1)(r+\frac{1}{r}) = (r+\frac{1}{r})^2$$

$$r^2 + \frac{1}{r} - \frac{1}{r} = r^2 + \frac{1}{r} + \frac{1}{r}$$

$$-\frac{1}{r} = \frac{1}{r} \Rightarrow r = -1$$

$$a_1 + a_1 r^2 + a_1 r^4 = v r^2 \Rightarrow a_1 (1 + r^2 + r^4) = v r^2 = 14$$

$$a_1 r^4 - a_1 r^2 = \lambda (a_1 r^2 - a_1)$$

$$a_1 r^2 (r^2 - 1) = \lambda a_1 (r^2 - 1) \Rightarrow r^2 = \lambda = 14$$

$$t_1 = 1$$

$$t_p = 14 = 14$$

$$t_0 = 1 \times r^4 = 14$$

$$d = v$$



$$d = 0$$